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	QUESTION
	SC

	What is the value of the following postfix-expression?

2 3 4 5 + * 24 - ^
('-' subtracts the more recent entry from the older one, e.g. '9 7 -' equals 2)

Answer: _______________

While evaluating the expression using a stack, what is the maximum stack-size (=numbers of elements in stack) ?

Answer: _______________
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1

	Write a short RECURSIVE code that computes the value of 

f(n) = 1+ 2 + 3 + ... + n


	3

	Name 2 more possibilities to solve the above equation. 

Which one of all 3 is the fastest ?
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	How is the JVM-internal stack used calling an object’s method ?

· The return address and local variables are stored

· the method itself is put onto the stack

· the JVM stack is not used during a method call

· all class variables of the program are put on the stack to be visible to the method
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